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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.80 59.86 | #hUS | 000 ~ 480 1.74 9.32 Thlst 1.00 | 5.00 ~ 5.04 59.86 | ThLS | 5,00 ~ 504 | 1.74 9.32
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.46 81.39 | =nks 000 ~ 646 1.79 9.56 Thlst 1.00 | 5.00 ~ 7.67 81.39 | =hbLs | 5,00 ~ 7.67 | 1.79 9.566
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.95 74.46 | #nLS | 000 ~ 595 1.75 9.39 Thlst 1.00 | 5.00 ~ 6.74 74.46 | ThLH | 5,00 ~ 6.74] 1.756 9.39
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.86 86.85 | =nkst 000 ~ 686 1.87 10.02 st 1.00 | 5.00 ~ 8.69 86.85 | =hbLs | 5,00 ~ 869 | 1.87 10.02
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.50 81.87 | #hdst | 0.00 ~ 6.50 | 1.80 9.64 Thlst 1.00 | 5.00 ~ 7.76 81.87 | #hbLs | 5,00 ~ 7.76 | 1.80 9.64
6 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 6.66 84.02 | #hAst | 0.00 ~ 6.66 | 1.80 9.62 st 1.00 | 5.00 ~ 8.05 84.02 | =hbLs | 5,00 ~ 8.05| 1.80 9.62
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 6.23 78.30 | =S | 000 ~ 623 1.97 10.57 Fhst 1.00 | 5.00 ~ 8.06 78.80 | Fhust | 5,00 ~ 806 | 1.97 10.57
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
13 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | ZhLst -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
14 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
Ths — -~ = — | ZhLst -~ = — — ZzhLst — -~ — — | EhLst - ~ — — —
15 100kN/mMZ#8Z % — - ~ — — |3mZE#EZDE| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
Ths 1.00 | 0.00 ~ 6.00 75.18 | #nst 000 ~ 600|217 11.64 st 1.00 | .00 ~ 9.53 75.13 | #hst | 5,00 ~ 953|217 11.64
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16 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
zhst — -~ = — | =hiist -~ = — — st — - ~ — — | Ehist -~ — — —
100kN/mM%#BZ % ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ % ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ % ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEEBZD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
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Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
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